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a) 0.35mol Wsser (H,0) 7
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¢) 0.26mof Mo, 7
A) 0.53 wo/ A,057
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a) 04 mol Ml in SOwl Whigor?
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Al1a) 22.99+3545 =584 ~ 58.449
4) 12.01+ §-1.008+ 2-14.01+ 16.00 = 60.06 — 60.063
c) 6:12.01+ 12-1.005+6-16= 190,16 + 100465
X) 3545+ 1.008= 36.458 — 36.464
B.1a) 2.1.008+ 16 = 18.015 — 0 35 1801054 = é. 372
b))  12.01+2 16 =44 0f — O, 23-%/7:%

¢) 24.305+2 35453 = 95 21 > 0.26- 95.214
= 759
H) 2:26.952+ 376 — 01,96 = 0.53-101. %
= 54.0%4
C.1) 22.99+35.45= 5844 = 2mo/
7 = — 0 120mol Ve

C.28) 22.99+35.45= 5844 fuacl
g = x = 2 p135m/
58.4y

4) 2-1.003+¢ 16= 18.02 £ fooo/
52 x orx= 5T D 95py
75.07

A
¢) 2:1.008+ 32.065+ 4 16= 912;”2 ‘::“f_{, xe= 492wl

— 0.0500my 950
A) 312.0(1+8 S0079+3.75.999 = 92.093 = Zeny/
23 = x

x=28Tmof _ 0 250 mo/
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D.1a) 0.025-0.3mol = Z. DO FE e/

b)) 0.020 0.25mol = 0.0025 70/

¢) 0.02- 0. 4ol = 0008100/

/—'

A) 0,015 0. Qgmeol = 0, 0012 om0/
Ei1n) 04wl /(0.08L) = Sl = Stz
) 0. L5mf (6. 025L) = bmorst = 617
c) 0.0%ww)/(0.075L) = £,93emoty/ L = 2. 33/7
4) 0.0/ [0.75L) = 0.053mol/s = 805717
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